

2025-2026 Sunday Chinese League

Quarter  
Week

3  
18

2026-03-01

Rank	Team Number	Team Name	Points - Quarter	Points This Week
1	16	PokeBowl	371.364	68.557
2	4	Bun Bowl Hue	359.008	26.414
3	1	Rolling Thunder	348.449	53.521
4	8	Everything Hurts!	339.819	74.793
5	2	Ai Ya!	325.692	41.517
6	10	Yeo Luus	315.444	74.628
7	15	Team Redundancy Team	306.255	74.657
8	7	President's Choice	306.144	53.524
9	17	Sunday Big Happy	295.795	62.618
10	13	Quick Quick Quick	294.532	20.578
11	18	Bowl Movement	285.596	41.496
12	9	Cadence	268.857	32.555
13	14	Drop & Go	260.779	45.983
14	5	TMT&M	256.901	20.434
15	12	Team Tony	246.387	20.520
16	6	Golden Rollers	196.467	48.994
17	3	WAVS	183.046	38.459
18	11	DaBowl0	175.353	56.524

Rank	Team Number	Team Name	Points - Aggregate	Points This Week
1	2	Ai Ya!	1040.967	41.517
2	10	Yeo Luus	1003.395	74.628
3	13	Quick Quick Quick	946.594	20.578
4	8	Everything Hurts!	927.931	74.793
5	4	Bun Bowl Hue	903.713	26.414
6	1	Rolling Thunder	902.489	53.521
7	16	PokeBowl	901.101	68.557
8	12	Team Tony	887.468	20.520
9	5	TMT&M	866.633	20.434
10	9	Cadence	856.061	32.555
11	17	Sunday Big Happy	840.362	62.618
12	14	Drop & Go	828.631	45.983
13	15	Team Redundancy Team	826.908	74.657
14	11	DaBowl0	819.173	56.524
15	7	President's Choice	812.449	53.524
16	18	Bowl Movement	755.230	41.496
17	3	WAVS	664.449	38.459
18	6	Golden Rollers	621.013	48.994

Team - High Series and Game

Rank	Team Name	Handicap Team Series
1	Rolling Thunder	2798
2	Ai Ya!	2797
3	Everything Hurts!	2793

Rank	Team Name	Handicap Team Game
1	President's Choice	777
2	Drop & Go	758
3	Ai Ya!	757

Top Averages

Men		
Rank	Bowler Name	Average
1	Brent Huynh	199.633
2	Brian Lo	196.271
3	Ted Lam	193.700

Ladies		
Rank	Bowler Name	Average
1	Hope Tsang	185.203
2	Jin Yeo	176.779
3	Julie Tomas	176.368

M V P

Rank	Bowler Name	Points
1	Jeff Tse	214.5
2	Rey Tomas	202.5
3	Jin Yeo	201.0

Men - High Series

Rank	Bowler Name	Handicap Series
1	Andy Kwok	1082
2	Rey Tomas	1020
3	Matt Chow	1007

Rank	Bowler Name	Scratch Series
1	Andy Kwok	946
2	Brent Huynh	886
3	Boris Wong	873

Men - High Game

Rank	Bowler Name	Handicap Game
1	Andy Kwok	334
2	Gord Ma	297
3	Jonathan Hong	297

Rank	Bowler Name	Scratch Game
1	Andy Kwok	300
2	Brent Huynh	278
3	Jason Liu	258

Ladies - High Series

Rank	Bowler Name	Handicap Series
1	Julie Tomas	1025
2	Cynthia Nguyen	1011
3	Calleigh Tran	977

Rank	Bowler Name	Scratch Series
1	Julie Tomas	869
2	Hope Tsang	816
3	Cynthia Nguyen	787

Ladies - High Game

Rank	Bowler Name	Handicap Game
1	Ciana Tran	292
2	Julie Tomas	284
3	Sophie Kam	281

Rank	Bowler Name	Scratch Game
1	Ciana Tran	248
2	Julie Tomas	245
3	Jin Yeo	241

Week			Game 1			Game 2			Game 3			Game 4			Total					
18			Pinfall	Score	Pt	Pinfall	Score	Pt	Pinfall	Score	Pt	Pinfall	Score	Pt	Pinfall	Score	Pt			
Name	Avg	Handicap																		
	Lane	Team																		
<b>Bun Bowl Hue</b>			1	4																
Forest Leung	147	62	131	193	0	135	197	0	132	194	0	170	232	3	568	816	0			
Dave Lien	169	43	189	232	0	157	200	3	154	197	3	198	241	3	698	870	6	Match	24.000	
Gord Ma	181	33	127	160	0	136	169	0	191	224	0	142	175	0	596	728	0			
			138	447	585	428	566	0	477	615	0	510	648	6	1862	2414	0	Pinfall	2.414	
					0			3			3			12			6	TOTAL	26.414	
<b>PokeBowl</b>			2	16																
Kent Feng	148	61	185	246	3	175	236	3	184	245	3	144	205	0	688	932	6			
Marcus Lau	169	43	199	242	3	137	180	0	132	175	0	154	197	0	622	794	0	Match	66.000	
Jeremy Pon	169	43	149	192	3	151	194	3	188	231	3	171	214	3	659	831	6			
			147	533	680	463	610	6	504	651	6	469	616	0	1969	2557	12	Pinfall	2.557	
					15			12			12			3			24	TOTAL	68.557	
<b>Rolling Thunder</b>			3	1																
Cynthia Nguyen	156	54	157	211	3	144	198	3	145	199	0	137	191	0	583	799	6			
Ty Diep	159	51	142	193	0	190	241	0	168	219	0	112	163	0	612	816	0	Match	51.000	
Rey Tomas	184	30	191	221	0	172	202	3	242	272	3	181	211	3	786	906	6			
			135	490	625	506	641	6	555	690	6	430	565	0	1981	2521	12	Pinfall	2.521	
					3			12			9			3			24	TOTAL	53.521	
<b>Ai Ya!</b>			4	2																
Cuong Tang	161	50	141	191	0	98	148	0	155	205	3	151	201	3	545	745	0			
Ray Mah	183	31	171	202	3	219	250	3	192	223	3	205	236	3	787	911	6	Match	39.000	
Brent Huynh	199	17	231	248	3	183	200	0	216	233	0	163	180	0	793	861	0			
			98	543	641	500	598	0	563	661	0	519	617	6	2125	2517	0	Pinfall	2.517	
					12			3			6			12			6	TOTAL	41.517	
<b>Quick Quick Quick</b>			5	13																
Kevin Leung	173	39	202	241	3	179	218	3	149	188	0	149	188	0	679	835	0			
Calvin Tsang	173	39	148	187	0	159	198	0	175	214	0	194	233	0	676	832	0	Match	18.000	
Brian Lo	195	21	236	257	3	214	235	0	173	194	0	204	225	3	827	911	6			
			99	586	685	552	651	0	497	596	0	547	646	0	2182	2578	0	Pinfall	2.578	
					6			3			0			3			6	TOTAL	20.578	
<b>Everything Hurts!</b>			6	8																
Mary Huynh	165	46	181	227	0	171	217	0	187	233	3	169	215	3	708	892	6			
Julie Tomas	173	39	245	284	3	174	213	3	215	254	3	235	274	3	869	1025	6	Match	72.000	
Jason Liu	190	25	213	238	0	221	246	3	200	225	3	142	167	0	776	876	0			
			110	639	749	566	676	6	602	712	6	546	656	6	2353	2793	12	Pinfall	2.793	
					9			12			15			12			24	TOTAL	74.793	
<b>President's Choice</b>			7	7																
Carol Phan	161	50	177	227	0	147	197	0	155	205	0	201	251	3	680	880	0			
John Tang	174	39	157	196	3	146	185	0	146	185	0	123	162	0	572	728	0	Match	51.000	
Andy Kwok	187	28	221	249	3	167	195	0	224	252	3	192	220	3	804	916	6			
			117	555	672	460	577	0	525	642	6	516	633	6	2056	2524	12	Pinfall	2.524	
					12			0			9			12			18	TOTAL	53.524	
<b>Bowl Movement</b>			8	18																
Mabel Lau	141	67	167	234	3	154	221	3	155	222	3	165	232	0	641	909	6			
Jonathan Hong	149	60	130	190	0	138	198	3	136	196	3	150	210	3	554	794	6	Match	39.000	
Brian Wu	159	51	157	208	0	153	204	3	148	199	0	131	182	0	589	793	0			
			178	454	632	445	623	6	439	617	0	446	624	0	1784	2496	0	Pinfall	2.496	
					3			15			6			3			12	TOTAL	41.496	

Week				Game 1			Game 2			Game 3			Game 4			Total				
18																				
Name	Avg	Handicap	Pinfall	Score	Pt	Pinfall	Score	Pt	Match											
	Lane	Team																		
Yeo Luus	9	10																		
Jin Yeo	176	37	180	217	0	241	278	3	189	226	3	137	174	0	747	895	6			
Jason Trieu	189	26	173	199	0	190	216	3	171	197	3	187	213	3	721	825	6	Match	72.000	
Vinh Luu	191	24	175	199	3	199	223	3	211	235	0	227	251	3	812	908	6			
		87	528	615	0	630	717	6	571	658	6	551	638	6	2280	2628	12	Pinfall	2.628	
					3			15			12			12			30	TOTAL	74.628	
TMT&M	10	5																		
Tien Lam	149	60	187	247	3	105	165	0	117	177	0	164	224	3	573	813	0			
Sheldon Yee	137	70	135	205	3	115	185	0	115	185	0	127	197	0	492	772	0	Match	18.000	
Matt Chow	184	30	161	191	0	162	192	0	222	252	3	184	214	0	729	849	0			
		160	483	643	6	382	542	0	454	614	0	475	635	0	1794	2434	0	Pinfall	2.434	
					12			0			3			3			0	TOTAL	20.434	
Cadence	11	9																		
Jacky Lau	161	50	149	199	3	167	217	0	164	214	3	179	229	3	659	859	6			
Colin Li	165	46	165	211	0	170	216	3	142	188	0	181	227	3	658	842	0	Match	30.000	
Dennis Kwan	182	32	185	217	3	176	208	0	179	211	0	186	218	0	726	854	0			
		128	499	627	6	513	641	0	485	613	0	546	674	0	2043	2555	0	Pinfall	2.555	
					12			3			3			6			6	TOTAL	32.555	
Sunday Big Happy	12	17																		
Joanne Lau	134	73	119	192	0	156	229	3	99	172	0	132	205	0	506	798	0			
Jeff Tse	163	48	170	218	3	166	214	0	202	250	3	136	184	0	674	866	6	Match	60.000	
Stephen Wong	175	38	176	214	0	188	226	3	189	227	3	249	287	3	802	954	6			
		159	465	624	0	510	669	6	490	649	6	517	676	6	1982	2618	12	Pinfall	2.618	
					3			12			12			9			24	TOTAL	62.618	
Team Redundancy Team	13	15																		
Liz Wong	168	44	183	227	3	174	218	3	201	245	3	159	203	3	717	893	6			
Dylan Kho	179	34	152	186	0	163	197	0	218	252	3	214	248	3	747	883	6	Match	72.000	
Hope Tsang	184	30	209	239	3	189	219	0	182	212	3	181	211	0	761	881	0			
		108	544	652	6	526	634	6	601	709	6	554	662	6	2225	2657	12	Pinfall	2.657	
					12			9			15			12			24	TOTAL	74.657	
Team Tony	14	12																		
Shelly Dien	133	73	106	179	0	133	206	0	131	204	0	99	172	0	469	761	0			
Tony Wong	166	45	201	246	3	154	199	3	166	211	0	162	207	0	683	863	0	Match	18.000	
Eric Vong	168	44	169	213	0	178	222	3	161	205	0	212	256	3	720	896	6			
		162	476	638	0	465	627	0	458	620	0	473	635	0	1872	2520	0	Pinfall	2.520	
					3			6			0			3			6	TOTAL	20.520	
Drop & Go	15	14																		
Sophie Kam	144	64	155	219	3	147	211	0	160	224	3	147	211	3	609	865	6			
Daniel Kwan	187	28	189	217	3	167	195	0	202	230	3	178	206	1.5	736	848	6	Match	43.500	
Boris Wong	190	25	162	187	0	188	213	3	179	204	0	141	166	0	670	770	0			
		117	506	623	6	502	619	0	541	658	6	466	583	0	2015	2483	0	Pinfall	2.483	
					12			3			12			4.5			12	TOTAL	45.983	
Golden Rollers	16	6																		
Nina Yuen	135	72	117	189	0	146	218	3	135	207	0	114	186	0	512	800	0			
Alan Ng	166	45	137	182	0	188	233	3	162	207	0	161	206	1.5	648	828	0	Match	46.500	
Danny Cheung	169	43	169	212	3	142	185	0	177	220	3	206	249	3	694	866	6			
		160	423	583	0	476	636	6	474	634	0	481	641	6	1854	2494	12	Pinfall	2.494	
					3			12			3			10.5			18	TOTAL	48.994	

Week			Game 1			Game 2			Game 3			Game 4			Total					
18																				
Name	Avg	Handicap	Pinfall	Score	Pt															
	Lane	Team																		
WAVS			17	3																
Sonia Cheung	147	62	165	227	3	161	223	0	147	209	0	103	165	0	576	824	0			
Addy Chan	166	45	126	171	0	189	234	3	129	174	0	181	226	3	625	805	6	Match	36.000	
Wing Chan	175	38	143	181	3	168	206	0	164	202	3	203	241	3	678	830	6			
			145	434	579	6	518	663	0	440	585	0	487	632	0	1879	2459	0	Pinfall	2.459
					12			3			3			6			12	TOTAL	38.459	
DaBow10			18	11																
Sim Kwong	131	75	124	199	0	177	252	3	162	237	3	141	216	3	604	904	6			
Jennifer Chung	141	67	129	196	3	124	191	0	140	207	3	132	199	0	525	793	0	Match	54.000	
Ricky Lee	153	56	118	174	0	176	232	3	142	198	0	167	223	0	603	827	0			
			198	371	569	0	477	675	6	444	642	6	440	638	6	1732	2524	12	Pinfall	2.524
					3			12			12			9			18	TOTAL	56.524	

2025-2026 Sunday Chinese League

Week Number **18**

2026-03-01

Team No	1 Rolling Thunder					
	Points	Series	Pin Falls	Games	Average	Handicap
Leon Tran	93	0	5996	40	149	60
Cynthia Nguyen	135	799	9963	64	155	55
Rey Tomas	202.5	906	12593	68	185	29
Ty Diep	63	816	5707	36	158	52

Team No	3 WAVS					
	Points	Series	Pin Falls	Games	Average	Handicap
Sonia Cheung	48	824	4108	28	146	62
Addy Chan	93	805	8634	52	166	45
Wing Chan	129	830	12638	72	175	38
Vincent Szeto	79.5	0	7465	45	165	46

Team No	5 TMT&M					
	Points	Series	Pin Falls	Games	Average	Handicap
Tien Lam	124.5	813	10123	68	148	61
Matt Chow	165	849	11086	60	184	30
Matthew Ho	99	0	5882	32	183	31
Ted Lam	66	0	3874	20	193	22

Team No	7 President's Choice					
	Points	Series	Pin Falls	Games	Average	Handicap
Carol Phan	138	880	10368	64	162	49
John Tang	132	728	12443	72	172	40
Andy Kwok	163.5	916	12024	64	187	28

Team No	9 Cadence					
	Points	Series	Pin Falls	Games	Average	Handicap
Jacky Lau	150	859	9705	60	161	50
Colin Li	130.5	842	9250	56	165	46
Dennis Kwan	123	854	10971	60	182	32
Ciana Tran	79.5	0	7446	44	169	43

Team No	11 DaBowl0					
	Points	Series	Pin Falls	Games	Average	Handicap
Jennifer Chung	118.5	793	8992	64	140	68
Sim Kwong	166.5	904	9008	68	132	74
Ricky Lee	147	827	10434	68	153	56
						0

Team No	13 Quick Quick Quick					
	Points	Series	Pin Falls	Games	Average	Handicap
Calvin Tsang	144	832	11807	68	173	39
Brian Lo	121.5	911	9421	48	196	20
Kevin Leung	133.5	835	8323	48	173	39
						0

Team No	15 Team Redundancy Team					
	Points	Series	Pin Falls	Games	Average	Handicap
Liz Wong	103.5	893	8798	52	169	43
Hope Tsang	163.5	881	11853	64	185	29
Dylan Kho	124.5	883	12960	72	180	34
						0

Team No	17 Sunday Big Happy					
	Points	Series	Pin Falls	Games	Average	Handicap
Joanne Lau	120	798	9118	68	134	73
Jeff Tse	214.5	866	11798	72	163	48
Stephen Wong	109.5	954	9916	56	177	36
						0

Team No	N/A Spare					
	Points	Series	Pin Falls	Games	Average	Handicap
Sheldon Yee	21	772	1594	12	132	74
Mabel Lau	96	909	5175	36	143	65
Johnny Ho	18	0	843	4	210	8
Simon Ma	6	0	559	4	139	68
Forest Leung	30	816	2336	16	146	62
Tommy Ho	72	0	6595	32	206	11
Miu Chau	9	0	1279	8	159	51
Marcus Lau	111	794	8746	52	168	44
Ronin Taing	6	0	1206	8	150	59
Helen Tran	24	0	1967	12	163	48

Team No	2 Ai Ya!					
	Points	Series	Pin Falls	Games	Average	Handicap
Cuong Tang	127.5	745	8298	52	159	51
Clint Kimber	114	0	7246	40	181	33
Ray Mah	171	911	11062	60	184	30
Brent Huynh	138	861	11978	60	199	17

Team No	4 Bun Bowl Hue					
	Points	Series	Pin Falls	Games	Average	Handicap
Aris Lien	97.5	0	7655	48	159	51
Dave Lien	87	870	6793	40	169	43
Derek Lien	138	0	8513	48	177	36
Gord Ma	153	728	11498	64	179	34

Team No	6 Golden Rollers					
	Points	Series	Pin Falls	Games	Average	Handicap
Nina Yuen	102	800	9717	72	134	73
Alan Ng	69	828	7990	48	166	45
Danny Cheung	111	866	10168	60	169	43
						0

Team No	8 Everything Hurts!					
	Points	Series	Pin Falls	Games	Average	Handicap
Mary Huynh	175.5	892	11292	68	166	45
Julie Tomas	135	1025	11993	68	176	37
Jason Liu	199.5	876	13702	72	190	25

Team No	10 Yeo Luus					
	Points	Series	Pin Falls	Games	Average	Handicap
Jin Yeo	201	895	12021	68	176	37
Tony Luu	123	0	9869	52	189	26
Vinh Luu	165	908	13845	72	192	23

Team No	12 Team Tony					
	Points	Series	Pin Falls	Games	Average	Handicap
Shelly Dien	151.5	761	9563	72	132	74
Tony Wong	162	863	12037	72	167	45
Eric Vong	177	896	11525	68	169	43

Team No	14 Drop & Go					
	Points	Series	Pin Falls	Games	Average	Handicap
Sophie Kam	138	865	9870	68	145	63
Boris Wong	153	770	12861	68	189	26
Daniel Kwan	180	848	12720	68	187	28
						0

Team No	16 PokeBowl					
	Points	Series	Pin Falls	Games	Average	Handicap
Calleigh Tran	112.5	0	9310	56	166	45
Kent Feng	145.5	932	8415	56	150	59
Jeremy Pon	192	831	12158	72	168	44

Team No	18 Bowl Movement					
	Points	Series	Pin Falls	Games	Average	Handicap
Jonathan Hong	144	794	10146	68	149	60
Shannon Poon	117	0	9570	68	140	68
Brian Wu	139.5	793	11450	72	159	51
						0

Team No	N/A Spare					
	Points	Series	Pin Falls	Games	Average	Handicap
JJ Wong	15	0	550	4	137	70
Aaron Taing	48	0	2440	16	152	57
Marcus Cheung	15	0	1326	8	165	46
Lily Kwok	94.5	0	4256	28	152	57
Arnold Wong	0	0	647	4	161	50
Lawrence Leung	60	0	5031	28	179	34
Herman Wong	27	0	1002	8	125	80
Nathan Kimber	24	0	1640	12	136	71
Jason Trieu	48	825	3748	20	187	28
Felicia Wong	24	0	1551	8	193	22